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Function02 for No.9182

d=(y=-x+1) 3=(x-4y-8=0) 5=3x+y+5=0) jZ
Nol=| ()= 3x+6) 4=(3x—p+18=0) .6:(y=—5?x+5j° ’ iz
\ A
¢
\
\ 4\\
NSNS L
L2
// ///\k//\\
P
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/ AR
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/ (SR
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Function02 for No.9182 (continue)

1
|

M
(Eq=[y=-x+1]] (Eq=[3x—y+18=0]] Ct’
A:(43'3) A:('593) h
No2=| B=(5-4) | ,No3= B=(-3,9) e
C=(2,1) C=(1,21) b
| D=(2,3) | D=(3,25)
U
L 7]
Nod4 : 4.1 > S = 160 , R =14
: 4.2 > S = 8100 , R=5
No5 : N = 17000 , R =10 , Y = 2567
No6 : P = 160 , F = 19000 , V. = 60 , N = 185
~ D(p):—21p+7542}
N07_[ S(p) =23 p + 5254
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Function02 for No.9225

NO]:{-2%I<Ziy+:3_yx++3620) =iy to=0) .6':)33:?0)} I
7
\ // |
. \ 8
\\ 6 /
\\ ) /// /
\\\xzx /
N
/ ‘ 10
Mo
/ S
/ / N\ .
/ N\
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e \
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Function02 for No.9225 (continue)

1
I

M
(Eq=[y=3x]] (Eq=[4x+3y+3=0]] ‘t’
A=(-3,-12) A=(0,-1) ,
No2=| B=(2,-6) |, ,No3= B=(12,-17) ol
C=(3,9) C=(15,-21) by
. D=(1,3) | i D=(-3,2) | U
T
Nod4 : 4.1 > S = 190 , R =14
: 4.2 > S = 10500 , R=206
No5 : N = 29000 , R =17 , Y = 2567
No6 : P = 160 , F = 17000 , V. = 60 , N = 164
~ D(p):—18p+7090}
N07_[ S(p)=19 p + 5055
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Function02 for No.9243

Mﬂ:[ d=(y=—x+7)

2=(5x+4y-12=0)

N
\\\\ ol

I=(y=-2
4=(y=2

N

e

M
a

x—16).5:(5x+4y—24:0q t

x—3) OH6=(x+3y+12=0)T | h
)
LD

\ N X
SRR NN
T \
\\\\\4\ \
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Function02 for No.9243 (continue)

T
[Eqg=[y=-2x-16]] Eg=[x+3y+12=0]] j’
A=(3,-22) A=(0,-4) A
No2 = B=(1,-18) . ,No3= B=(-12,-3) - la
C=(-2,-13) C=(-9,-3) by
D=(2,-17) i D=(15,-9)
U
LT
Nod4 : 4.1 > S = 190 , R =25
: 4.2 > S = 7500 , R=5
No5 : N = 29000 , R=15 , Y = 2569
No6o : P = 160 , F = 20000 , V=70 , N = 211
~ D(p):—22p+6998}
N07_[ S(p)=27p + 2882
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Function02 for No.9280

2

X
Nol{ .1:( =_2+1J 3=Q2x-y+7=0) S5=Q2x+3y+15=0))
2=(2x+3y-18=0) 4=(y=-3x-16) b6=(y=x+6)

e >~ ¥
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. o/
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Function02 for No.9280 (continue)

] _ M
X - - a
qu{yz——+l} Eq=[2x+3y+15=0]
2 t
A=(8,-3 A=(-6,-1) h
No2 = =83 Ne3= B=(6,-7) o
B=(2,0) i @
C=(15,-15)
C=(-10,3) B M
. D=(9,-12)
. D=(0,-2) U
| T
Nod4 : 4.1 > S = 170 , R =25
: 4.2 > S = 9900 , R =17
No5 : N = 20000 , R =17 , Y = 2565
No6 : P = 180 , F = 22000 , V=70 , N = 188
~ D(p):—25p+7975}
N07_[ S(p)=19 p + 5291
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Function02 for No.9298

A=(3x+4y+28=0)
Nol =

I=(y=-3x+2)

3x
2=Bx-y+14=0) .4:(y:—7+5j .6

S=(x-y+1=0)
SN

T ]
\6'\'{@“&&
L |

AN
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Function02 for No.9298 (continue)

) ] M
X - - a
Eq:{y:_g_g,} Eq=[3x+4y+28=0] t
a A=(-16,5) ,
No2 = =(4-2) | Ne3= B=(12,-17) | .
B=(10,-8) B @
C=(16,-20)
C=(-4,-1) B M
| D=(-12,2)
D=(0,-3) U
| 7]
No4 : 4.1 > S = 150 , R=23
: 4.2 > S = 9900 , R =23
No5 : N = 17000 , R =11 , Y = 2571
No6 : P = 130 , F = 18000 , V=70 , N = 287
~ D(p):—17p+7397}
N07_[ S(p)=21p + 5839
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Function02 for No.9329

No]:[

d=(y=-2x-15)
2=(5x+4y+24=0)

3=(=3x+2)
A4=(x-3y-6=0)

M
a

.5=(2x+y—6:0)} t
b6=(y==—x-7) I | h
)

LD

—

\

AN \
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Function02 for No.9329 (continue)

-
(Eq=[y=-x-T]| [Eg=[x-3y-6=0]] |
A=(0,-7) A4=(12,2) ,
No2=| B=(-3,6) | ,No3= B=(9,1) - la
C=(-4,-1) C=(-3,-6) Y
D=(2,-9) L D=(15,1) J
U
LT
Nod4 : 4.1 > S = 190 , R=23
: 4.2 > S = 7900 , R =25
No5 : N = 18000 , R = 8 , Y = 2565
No6 : P = 150 , F = 21000 , V. =40 , N = 185
~ D(p):—17p+6719}
N07_[ S(p)=18 p + 4724
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Function02 for No.9358

] =
No 2=(y=x-6)

I=(5x-2y—-8=0) .3=(x—y-3=0) 5=(2x+y+20=01
4

X
A=ly=""-1

]

O6=(y=2x+7)

I
6'\'_,&“\&
L

///
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Function02 for No.9358 (continue)

1
I

M
(Eq=[y=x-6]] (Eq=[5x-2y-8=0]] ‘t’
A=(-2,-8) A=(4,4) h
No2=| B=(1,-3) | ,No3= B=(10,23) - la
C=(0,-6) C=(8,16) Y
| D=(-4,-12) ] I D=(6,11) |
U
T
Nod4 : 4.1 > S = 160 , R=0
: 4.2 > S = 6300 , R =17
No5 : N = 19000 , R =10 , Y = 2568
No6o : P = 180 , F = 18000 , V. = 60 , N = 163
B D(p):—28p+7522}
N07_[S(p)=17p+5317
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Function02 for No.9362

M
a

NO]:[ I=(y=4x-4) 3=(x+3y-21=0) .5:(6x+5y+25:0)} t
2=(MA4x+y+18=0) 4=(y=—4x+4) b6=(y=—=x-17) | h

)

LD

AN
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Function02 for No.9362 (continue)

1
|

M
(Eq=[y=4x—4]] (Eq=[4x+y+18=0]] Ct’
A=(5,16) A=(4,-34) i
No2=| B=(-4,21) | ,No3= B=(-5,1) e
C=(-1,-7) C=(0,-17) Y
L D=(3,8) | i D=(2,-26)
U
| 7]
No4 : 4.1 > S = 160 , R=0
: 4.2 > S = 6100 , R=5
No5 : N = 29000 , R =17 , Y = 2565
No6 : P = 130 , F = 23000 , V. = 60 , N = 319
~ D(p):—19p+6388}
N07_[ S(p) =18 p + 4464

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXKKKKKXXXXKXKXKXKKKXKXKXKXKXX XX KKK XXX KKXXXKXKXKXKKXX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXXKXKXME/2-6400402-00009XX

Function02 for No.9408

M
Nol = A=(y=3x+18) I=(y=—x-4) .5:(y:43—x+4j o Ctl
2=(x+4y+4=0) 4=(4x+y+4=0) 6=(4x+y+6=0) l;
L:D ]
10+ /
v/
. /
6_ //
\\ )
4
NV
B \\ //\ .
N/
5 10
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Function02 for No.9408 (continue)

1
|

M
(Eq=[y=3x+18]] (Eq=[4x+y+6=0]] Ct’
A=(3,27) A=(4,-22) ,
No2=| B=(2,25) | ,No3= B=(-2,0) ol
C=(5,35) C=(-1,-2) b
. D=(0,18) | | D=(-4,10) U
L 7]
Nod4 : 4.1 > S = 160 , R =17
: 4.2 > S = 9300 , R =17
No5 : N = 24000 , R=15 , Y = 2568
No6 : P = 120 , F = 21000 , V. = 50 , N = 289
~ D(p):—22p+7072}
N07_[ S(p) =23 p +3652
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Function02 for No.9450

Nol =
2=(=—=x-1)

2x
.1=(y=—4x—19) .3:(x—|—3y—15:0) '5=(y:_—J

A4=(x+3y-18=0)

10+

M

a

t

3 h
b6=(M4x-y—-4=0) 9
L:D ]
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Function02 for No.9450 (continue)

— — _M_
2x - _ a
Eq= yz—T Eq=[x+3y-15=0] ;
A=(0,2 A=(6,3) h
No2 = =(0,2) 1 Ne3— B=(15,0) o
B=(3,0) _ @
C=(-3,6)
C=(-12,8) B M
i D=(9,4)
D=(12,-8) | U
| T
Nod4 : 4.1 > S = 130 , R=23
: 4.2 > S = 7600 , R=206
No5 : N = 19000 , R =9 , Y = 2565
No6 : P = 170 , F = 21000 , V. =40 , N = 160
~ D(p):—29p+8699}
N07_[ S(p)=25p +4325
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Function02 for No.9469

A=(y=x-17)

1 =
Nol=| 5 _(y=2x+6)

3=(x+4y-28=0)

X
.4:y:—z+3

M
S=M4x+y-14=0)

6=(5x—6y+42=0)]

6&;&‘*\&

y

/-

o

[~

/
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/
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Function02 for No.9469

(continue)

1

I

] i M
X - N a
qu{yz—z+3} Eq=[4x+y—14=0] t
A=(20,-2 A=(-2,22) h
No2 = =(20.-2) 1 N3 B=(4,-2)
B=(-16,7) B @
C=(-20,10 ¢=(1,10) M
= (-20,10) | D=(3.24)
i =(0,3) ) U
L T
Nod4 : 4.1 > S = 150 , R=23
: 4.2 > 35 = 6700 , R =17
No5 : N = 28000 , R =5 , Y = 2568
No6 : P = 120 , F = 19000 , V. = 50 , N = 273
~ D(p):—23p+6585}
N07_[ S(p) =27 p +4335
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Function02 for No.9730

A=(4x+y—-1=0)
Nol =

3x
2=(x+3y+12=0) .4:(y:—7+5

\ \\
\\ 101

3=(y=4x+16)

Fr]

S=(y=4x-3) CZ

b6=(x—-y+3=0)( h
2)
:D |

iy
[/
|

\ 5 10
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Function02 for No.9730 (continue)

1
|

M
(Eq=[y=4x+16] (Eq=[4x+y—1=0]] Ct’
A=(-4,-1) A=(-2,10) ,
No2=| B=(5,36) |, ,No3= B=(-1,6) e
C=(1,17) C=(-3,13) Y
D=(4,32) | i D=(0,1) i
U
| 7]
No4 : 4.1 > S = 190 , R=23
: 4.2 > S = 7300 , R=5
No5 : N = 29000 , R = 6 , Y = 2565
No6 : P = 160 , F = 23000 , V. = 30 , N =179
~ D(p):—22p+6844}
N07_[ S(p)=15p + 4920
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Function02 for No.9743

A=Bx-y+4=0)

10+

3=(x-2y-8=0)

1= 6x 6x
No .2:(y:?+6j .4:(y:?+1) b6=(y=-3x+18)[

M
JI=(x+y+5=0)
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/

RN B
e

SNy i T

e ol

\
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Function02 for No.9743 (continue)

1
I

M
(Eq=[y=-3x+18]] (Eq=[x-2y—-8=0]] Ct’
A=(-2,24) A=(2,-3) i
No2=| B=(-4,29) | ,No3= B=(4,-3) ol
C=(-3,27) C=(-2,-5) v
. D=(3,9) | . D=(8,0) U
T
Nod4 : 4.1 > S = 170 , R=0
: 4.2 > S = 6600 , R =17
No5 : N = 18000 , R =10 , Y = 2571
No6 : P = 130 , F = 22000 , V=70 , N = 382
~ D(p):—28p+6504}
N07_[ S(p) =129 p + 4053
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Function02 for No.9791

3x
A=2x+y-2=0) 3=(x+y-5=0) .5:(),:?_,_2]

Nol =

\\\ \

N

\
\

\

X
2=(y=-2x+5) .4:[yzz+l) O6=2x-y+17=0)

\4><

M

M 2

.D.'\;NNQ
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Function02 for No.9791 (continue)

— — _M_
X - - a
Eq:[y:ZJrl} Eq=[2x+y—-2=0] ;
A=(4,2 A=(3,11) h
Noz=| A=) 0 noz—| B=(L4) |,
B=(0,1) _ @
C=(3,-4)
C=(8,-1) - M
. D=(2,3) |
D=(16,2) U
a
Nod4 : 4.1 > S = 140 , R =17
: 4.2 > 35 = 7200 , R =23
No5 : N = 19000 , R = 8 , Y = 2571
No6 : P = 130 , F = 23000 , V. = 60 , N = 319
- D(p):—28p+7144}
N07_[ S(p) =129 p + 2983
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Function02 for No.9807

M
]:(y:_—+1j 3=Bx-y+1=0) S5=2x+y+20=0) C;
Nol = s
2:(y:£+6J .4=[y=i+2j 6=(x+y+3=0) };
L:D ]
N \ . e
N\ N\ _—
\ \ /g—//
>/,>\/ | -
I N NI -
){’//
N E
- 0 ‘\\ 5 10
2\
NN\
o\
\\\\
NG
" \\\
-\
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Function02 for No.9807 (continue)

— — _M—
X - A a
Eq= y:2+6} Eq=[2x+y+20=0] t
A=(-8,4 A=(5,-30) h
No2=| A=(84) N3 B=(0,-20) |, .
B=(-4,2) B @
C=(-16,2 €=(2,-25) M
=(-16,2) | D=(4,-26) |
D=(-20,1) U
| T
Nod4 : 4.1 > S = 160 , R =25
: 4.2 > S = 7600 , R=5
No5 : N = 26000 , R =9 , Y = 2569
No6 : P = 180 , F = 17000 , V. =40 , N = 109
~ D(p):—16p+7668}
N07_[ S(p)=21p +4967
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Function02 for No.9832

A=(y=x-1)
] = 5x
No 5

2=|y=—""+6
YTy

I=(y=-3x+4)

4=B3x+y+7=0) 6=3x—-y+15=0)

.
.5=(x+2y8=0)}

I
6'\'_,&“\&
L

-\
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Function02 for No.9832 (continue)

.
(Eq=[y=x—1]] (Eq=[3x—y+15=0]] j’
A= (-4,-5) A=(0,15) ,
No2=| B=(1,-1) |, ,No3= B=(2,20) ol
C=(5,4) C=(-1,12) by
D=(-3,-4) L D=(3,26)
U
T
Nod4 : 4.1 > S = 180 , R=23
: 4.2 > S = 10600 , R =14
No5 : N = 24000 , R =17 , Y = 2568
No6 : P = 180 , F = 22000 , V=70 , N = 206
~ D(p):—25p+8500}
N07_[ S(p) =28 p + 3942
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Function02 for No.9870

I=3x-y-3=0) -3=£y=%+7j S=(y=x+3) j?
ot = '2=( =_§_3J A4=(2x+y+1=0) .6=(3x—y+15=0)’ | };
. _:D_/
\ ////
\)/ o
/
/ \ | //
\ )
\ \s\ // 5 10
~
A
5 \ L
TN
/ N \\
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Function02 for No.9870 (continue)

] ] M
2x - - a
Eq= y:?+7 Eq=[2x+y+1=0] ;
A=(0,7 A=(-5,12) h
No2 = =07 Nes=|  B=(2.2) | .
B=(25,18) ~ @
C=(2,-5)
C=(5,11) - M
. D=(3,-7) |
D=(-55) | U
LT
Nod4 : 4.1 > S = 190 , R =17
: 4.2 >35S = 10200 , R =4
No5 : N = 16000 , R =9 , Y = 2568
No6 : P = 140 , F = 21000 , V. = 30 , N = 204
~ D(p):—28p+8778}
N07_[ S(p)=19 p + 5206
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Function02 for No.10168

M
S5x a
Nol = '1=(y:7+6] S=(=x+4) S=(x-2y-10=0)) |1
2=(4x-y+4=0) 4=(5x-2y-4=0) .6=(ry=-2x+18) };
LD ]
/ /
10- // //
Ay e
W
// 4
s |
/ ~
K 5 10
/] =

-10+
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Function02 for No.10168 (continue)

] ] M
5x - _ a
Eq= y:7+6 Eq=[4x-y+4=0] ;
A=(-2,2 A=(-5,-14) h
No2 = =(-22) | Ne3=|  B=(524) | |
B=(0,6) _ @
o C=(3,16) by
=(-8,-14) . D=(4,20)
D=(2,11) U
| 7]
No4 : 4.1 > S = 160 , R =14
: 4.2 > S = 9800 , R=206
No5 : N = 29000 , R = 10 , Y = 2569
No6 : P = 180 , F = 20000 , V. = 30 , N = 134
~ D(p):—13p+6568}
N07_[ S(p) =24 p + 3386
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Function02 for No.10288

No]{

5
2=(x+4y-8=0)

4=(x-y-3=0)

]

},

b=(y=-2x+1)

/

I
e =~ 8
L

10

\
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Function02 for No.10288 (continue)

1
I

M
(Eq=[y=-2x+1]] (Eq=[x-y-3=0]] ‘t’
A=(1,0) A=(3,-1) h
No2 = B=(0,1) | ,No3= B=(41) | g
C=(5,-9) C=(-5,-6) Y
D=(-4,11) | L D=(2,-1) i U
| T
Nod4 : 4.1 > S = 130 , R =17
: 4.2 > 5 = 9100 , R =17
No5 : N = 26000 , R =9 , Y = 2571
No6 : P = 130 , F = 17000 , V. =40 , N = 194
~ D(p):—25p+7625}
N07_[ S(p)=21p + 4635
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Function02 for No.10502

M
d=(y=2x-6) 3=(x-3y=0) S=(y=x-3) ¢
Nol = ( 3x j N
2=(4x+y+14=0) 4=(y="7+5] 6=(x-3y-21=0) h
)
LD ]

\\ Py

)

Y

10
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Function02 for No.10502 (continue)

— y— —M—
3x - _ a
Eg=ly=—"4+5 Eq=[x-3y-21=0]
4 t
A=(12,14 4=0,-8) h
Noz=| A=U21H | Nos | =67y | .
B=(8,14) _ @
C=(15,-2)
C=(0,5) _ M
| D=(12,-3)
D=(-4,3) U
a
Nod4 : 4.1 > S = 160 , R =14
: 4.2 > 35 = 6000 , R =23
No5 : N = 14000 , R =7 , Y = 2570
No6 : P = 170 , F = 23000 , V. =40 , N = 164
~ D(p):—l9p+7020}
N07_[ S(p) =26 p + 3420
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Function02 for No.10562

M
I=(y=4x-3) 3=(x-4y+12=0) S5=(4x+y-17=0) ‘:
Nol{g(ﬁy—l()) .4:@:%—5 .6(y4x+7)} h
Y,
LD
\ 10/ /
\\ N /
\\ /, _—
/%//
] §
= / / 5 10
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Function02 for No.10562 (continue)

1
I

) _ M
5x - _ a
Eq = y:?—S Eq=[x-4y+12=0] ;
4=(30,20 4=(8,3) h
No2=| A=(30.20) 1 N3 B=(0,3) .
B =(-30,-30) - @
C=(-12,1)
C=(-6,-11) B M
L D_(1657)
D=(-12,-15) U
LT
Nod4 : 4.1 > S = 170 , R=23
: 4.2 > S = 7900 , R =23
No5 : N = 25000 , R =11 , Y = 2565
No6 : P = 170 , F = 17000 , V=70 , N = 184
~ D(p):—28p+8652}
N07_[ S(p)=19 p + 4704
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Function02 for No.10683

A=(y=-3x+4)
Nol =

X
2=(x-2y-6=0) .4:(y:;+lj

I=(y=x+1)

I=(5x+4y=0)
6=3x-y+19=0)(

\\\5uw~a§

-10+

N
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Function02 for No.10683 (continue)

1
I

M
(Eq=[y=x+1]] (Eq=[x-2y-6=0]] Ct’
A=(-2,-1) A=(8,1) ,
No2=| B=(=53) | ,Nes=| ~ B=(10.-1) | | O
C=(0,1) C=(2,-2) Iy
L D=(3,2) L D=(@.-1) U
| T
Nod4 : 4.1 > S = 170 , R =25
: 4.2 > S = 6600 , R =14
No5 : N = 28000 , R =11 , Y = 2570
No6 : P = 130 , F = 17000 , V. = 60 , N = 257
~ D(p):—21p+7244}
N07_[ S(p) =25 p + 4300
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Function02 for No.11104
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d=(y=-3x+19) .3=£y=—52—x+7j S=(x-3y-18=0) %‘4
Nol = _gz( =_%_2) 4=(x+y+1=0) .6=(2x—y—3:0)’ };
\ / L.D |
AN NV /
AN \ | /
AN \
\\ \ N /
R
ANEEA .
AN \ N //
B A ,
WO
AN N
o= N
7 o\ \\
T / \ .
— 10 AN
/ \ \\
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Function02 for No.11104 (continue)

] ] M
5x - _ a
Eq= y:—7+7 Eq=[2x-y-3=0] ;
e A=(-5,-13) ,
No2 = =(6.-8) | No3= B=(4,8) o
B=(0,7) ~ @
C=(57)
C=(-4,17) B M
. D=(21) |
| D=(-8,28) | U
| 7]
Nod4 : 4.1 > S = 150 , R=23
: 4.2 > S = 9000 , R=5
No5 : N = 25000 , R = 8 , Y = 2569
No6 : P = 180 , F = 18000 , V. = 30 , N =110
~ D(p):—17p+7590}
N07_[ S(p) =21 p + 4930
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Function02 for No.11312

NO]{]:(4X+)/3:()) .3{ :_§—4J '5=(4x+y1:0)} g
2=(y=x+6) 4=(y=4x+20) 6=(3x+4y+4=0) ;
X / L:D ]
N
\ / \ s Vs
N 6
\\\\ // //B\
4 B NN .
/ X ? 10
// / 2 ™
/ . o
A T
/ NG
/ s .
FITF
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Function02 for No.11312 (continue)

e
[Eq=[y=4x+20]] (Eq=[3x+4y+4=0]] Ct’
A=(-5,0) A=(-8,3) i
No2 = B=(-3,9) | ,No3= B=(-16,11) - la
C=(5,40) C=(0,-1) by
. D=(2,28) | L D=(12,-7) i U
L 7]
Nod4 : 4.1 > S = 180 , R=0
: 4.2 > S = 8100 , R =17
No5 : N = 15000 , R =5 , Y = 2567
No6 : P = 180 , F = 22000 , V. =40 , N = 152
~ D(p):—17p+8127}
N07_[ S(p)=13 p + 5697
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Function02 for No.11450

/

M
I=(r-y+4=0) 3=(y=3x+1) _5:(y:§+6j ;
Nol = . N
2=(5x-3y=0) .4=(y=z—4j 6=(4x+y+17=0) ")
L:D ]
/
10/ /
/ // |
| ’,’—""’
8 .
///,,—”’f””"
74/
=
,// 4 /
— 7/
/2

/
/.

/
P

////

-10+
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Function02 for No.11450 (continue)

— — _M_
X - - a
Eq:[y:2+6} Eq=[5x-3y=0] ;
A=(12,11 A=(-15,-26) h
Noz=| A=U2ID 0yl p=38) |,
B=(16,11) g @
C=(-6,-10)
C=(-4,5) B M
. D=(0,0) |
D=(-12,3) | U
a
Nod4 : 4.1 > S = 140 , R =17
: 4.2 >35S = 10200 , R =4
No5 : N = 21000 , R =17 , Y = 2571
No6 : P = 170 , F = 23000 , V. = 30 , N =173
~ D(p):—16p+7178}
N07_[ S(p)=17 p + 4439
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Function02 for No.12149

A=(y=—x-06)
] = 5x
Nol=1 ,

=( :—?+4j A=(x+2y+4=0) .6=(y=-3x-4) [

N

AN
VA

3=(x+2y+2=0)

/-

S=CB8x-y+17=0)

M

tj~;; = ~ 9

-10+
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Function02 for No.12149 (continue)

o
(Eq=[y=-3x—4]] (Eq=[x+2y+2=0]] j’
A=(-2,3) A4=(0,-4) 5
No2=| B=(-1,-1) | ,No3= B=(4,-6) - la
C=(4,-16) C=(-8,3) Y
. D=(1,-7) L D=(6,-4) 4 U
| T
No4 : 4.1 > S = 140 , R=0
: 4.2 > S = 7000 , R =17
No5 : N = 24000 , R = 6 , Y = 2571
No6 : P = 170 , F = 20000 , V. = 60 , N = 191
~ D(p):—29p+6879}
N07_[ S(p)=21p +4329
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Function02 for No.12181

=3 7-0) 3 ( = 3] 5 ( 2 1}
Nol =|° =3x-y+7=0) 3= =3 S=|y= 3 + ’
4=(x-y+3=0) 6=(x—y+6=0)

2=(y=-2x+18)

]

6'\'_,&“\&
L

/ /

AT
// N
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Function02 for No.12181 (continue)

— = _M_
X - - a
Eq:[ :;—3} Eq=[3x-y+7=0] ;
A=(12,1 4=(1,10) h
Noz=| A=U2D o nos—| B=(4,5) |,
B=(-3,-3) _ @
PR C=(-5,-11) by
=(9,2) D =(5,22)
D=(-6,-5) U
7]
Nod4 : 4.1 > S = 170 , R=0
: 4.2 > S = 6700 , R=5
No5 : N = 28000 , R =17 , Y = 2566
No6 : P = 120 , F = 21000 , V. = 60 , N = 355
B D(p):—13p+7714}
N07_[ S(p) =22 p + 4984
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Function02 for No.12234
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I=(x—y—-4=0)

Nol = 5x ) ( 5x
2=|ly=—"42| 4=|y=-"T"T-3
(y 2 Y=

LY

T
S=(x-2y-10=0) ‘lf
j 6=(y=-3x=-17) [ | h
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Function02 for No.12234 (continue)

1
I

] ] M
5x - _ a
Eq = y=—7—3 Eg=[x-y-4=0] ;
A=(4,7 A4=0.-1) h
No2 = =GR Nez=|  B=(-1,5) |,
B=(8,-25) _ @
C=(5,3)
C=(-6,12) B M
| D=(-5,-7) |
L D=(2,-11) U
| T
Nod4 : 4.1 > S = 190 , R =14
: 4.2 > S = 8700 , R =17
No5 : N = 23000 , R =8 , Y = 2568
No6 : P = 130 , F = 20000 , V. = 30 , N = 195
~ D(p):—20p+6950}
N07_[ S(p) =27 p + 4365
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Function02 for No.12288

NoJ — A=(x-2y-12=0)

2=(4x-y-4=0)

N
N\

10+

2x
.3:(y:—T—1] S=2x+3y-12=0)
A4=(y=-3x+18)

M
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Ob=(y=—x+6)
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Function02 for No.12288 (continue)

1
I

M
[Eq=[y=-x+6]] (Eq=[2x+3y-12=0]] Ct’
4=(0,6) 4=(3,9) ,
No2=| B=(2,8) | ,No3= B=(6,0) - la
C=(-3,11) C=(-12,12) v
L D=(3,4) | L D=(3,0) i U
T
No4 : 4.1 > S = 130 , R =14
: 4.2 > 5 = 7700 , R =17
No5 : N = 29000 , R = 10 , Y = 2566
No6 : P = 130 , F = 17000 , V. =40 , N =179
~ D(p):—19p+6319}
N07_[ S(p) =20 p + 4330
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Function02 for No.12311

T
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Nol = A=CBx+y+1=0) I=(y=—=x-1) .5:(y:;—3J o 2
2=(5x-6y+12=0) 4=(M4x-y+19=0) 6=(y=-3x+1) 9
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Function02 for No.12311 (continue)

1
I

M
(Eq=[y=-x—1] (Eq=[3x+y+1=0]] ‘t’
A=(-5,7) A=(1,-2) h
No2=| B=(0,2) | ,No3= B=(2,-7) - la
C=(2,1) C=(3,-8) Y
D=(-1,0) _ L D=(4,-13) J
U
| 7]
No4 : 4.1 > S = 150 , R =14
: 4.2 > S = 8100 , R=5
No5 : N = 21000 , R = 8 , Y = 2566
No6 : P = 150 , F = 17000 , V. = 60 , N =179
~ D(p):—23p+7554}
N07_[ S(p)=17 p + 5634
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Function02 for No.12318
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3=(y=2x—-4)

I
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4=2x-y+3=0) .6(x+3y—150)]’

S=(y=-4x-14)
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I
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Function02 for No.12318 (continue)

1
I

) _ M
3x _ _ a
Eq=|y=",_-3 Eg=[x+3y-15=0] t
A=(8,1 A=(-12,9) h
No2 = =B D 1 Np3= B=(-3,9) o
B=(20,12) B @
C=(-12,-12 €=0G.4) M
=(-12,-12) . D=(-15,10)
D=(12,6) U
L T
Nod4 : 4.1 > S = 180 , R=23
: 4.2 > S = 9700 , R=0
No5 : N = 27000 , R =5 , Y = 2570
No6 : P = 160 , F = 17000 , V. = 50 , N = 146
~ D(p):—19p+6250}
N07_[ S(p) =16 p + 4500
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Function02 for No.12322
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Function02 for No.12322 (continue)

) ] M
5x - _ a
Eq= y:—?—7 Eq=[x-4y-8=0] ;
(123 A=(20,5) A
No2 = =(12.3) | No3= B=(0,-2) | .
B=(18,-22) B @
C=(16,5)
C=(-30,17) _ M
. D=(4,-1) |
| D=(-18,11) U
L T
Nod4 : 4.1 > S = 140 , R=06
: 4.2 > 35 = 7500 , R =7
No5 : N = 19000 , R = 8 , Y = 2568
No6 : P = 180 , F = 21000 , V.= 30 , N = 151
B D(p):—13p+7341}
N07_[ S(p) =23 p + 5289

X [Page = 0032] XXXXXXXXXXXXXXXXXXXXKKKKXXXXXKXKXKXKXKXKXKXKXKXKXXKX XX KK KKK KKK XX KXKKXKKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXMS/2-6400402-00033XX
Function02 for No.12335

M

.1:(y=—x+7) ,3:(3x—5y—35=0) .5:(y:_4x+5) a

Nol = X i ’ t
2=(4x+y-4=0) 4= y:;+5 6=3x-y+17=0) h
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Function02 for No.12335 (continue)

1
I

M
(Eq=[y=-4x+5]] (Eq=[3x—y+17=0]] Ct’
A=(-1,9) A=(1,19) ,
No2=| B=(3,-7) | ,No3= B=(2,11) - la
C=(0,3) C=(-4,5) v
L D=(2,0) ] L D=(4,29) i U
LT
Nod4 : 4.1 > S = 150 , R=0
: 4.2 > S = 9100 , R =14
No5 : N = 18000 , R=290 , Y = 2568
No6 : P = 140 , F = 20000 , V. =40 , N = 192
~ D(p):—25p+6625}
N07_[ S(p)=21p+3727
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Function02 for No.12340

A=(4x-y+15=0)
] =
Nol=l 5 _(x+2y+2=0)

I=(y=x+2)

X
4= y:—;+3

T
S5=(5x+4y+24=0) f
b6=(y=-4x-06) h
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Function02 for No.12340 (continue)

1
|

M
(Eq=[y=x+2]] (Eq=[5x+4y+24=0]] Ct’
A=(3,5) A=(-4,-3) i
No2=| B=(4,6) | ,No3= B=(20,-31) e
C=(-2,0) C=(-12,9) Y
L D=(-4,-4) | L D=(0,-5) i
U
| 7]
No4 : 4.1 > S = 190 , R=0
: 4.2 > S = 9400 , R =17
No5 : N = 28000 , R =17 , Y = 2571
No6 : P = 130 , F = 17000 , V. = 30 , N = 166
~ D(p):—29p+6871}
N07_[ S(p) =16 p + 4666
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Function02 for No.12342
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I=(x—-y-2=0)
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Function02 for No.12342 (continue)

o
(Eq=[y=x-7]] (Eq=[3x-y+17=0]] j’
A=(-4,-8) A=(-3,7) h
No2=| B=(0,-7) | ,No3= B=(-5,2) - la
C=(2,-2) C=(1,20) v
D=(4,-3) L D=(-1, 14)
U
| T
No4 : 4.1 > S = 140 , R =17
: 4.2 >SS = 10100 , R =7
No5 : N = 15000 , R =5 , Y = 2571
No6 : P = 150 , F = 23000 , V. = 50 , N = 235
~ D(p):—16p+6840}
N07_[ S(p)=15p + 4825
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Function02 for No.645201

6 x
Nol = 1:( =— 5 +3j .3=(y=—2x—16) ,5:(x+4y_4:0),
-4=(2x—y—1:0)

2=(2x+y+2=0)

10+

6=(y=x)

M
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Function02 for No.645201 (continue)

1
|

M
Eq=[y=x]] (Eg=[x+4y-4=0]] |
A=(-3,-3) A=(-8,3) N
No2=| B=(-1,2) || ,No3= B=(12,0) ola
C=(2,2) C=(0,1) Y
L D=(1,2) | i D =(20, -4)
U
L 7]
Nod4 : 4.1 > S = 150 , R =25
: 4.2 > 35 = 6700 , R =17
No5 : N = 20000 , R =9 , Y = 2566
No6 : P = 120 , F = 18000 , V. = 30 , N = 185
B D(p):—27p+7824}
N07_[ S(p) =23 p+ 4724
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Function02 for No.645202

d=(y=4x-3) 3=(y=x-3) S=(x-3y+3=0) jf
NoT=| 5 (2x+y+14=0) .4=(y=52—’“+1] .6(5x—2y+80)}’ é
S/
S o
N\ 1/
\\\\ /
\\ Z /
NIRRT
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Function02 for No.645202 (continue)

o
(Eqg=[y=-x—-3]] (Eq=[5x—-2y+8=0] j’
4=(2,3) A=(-6,-14) .
No2=| B=(4,-4) | ,No3= B=(2,9) ol
C=(5,-8) C=(0,4) M
D=(2,-5) L D=(-10,-21) U
| T
No4 : 4.1 > S = 160 , R=23
: 4.2 > 5 = 7000 , R=5
No5 : N = 26000 , R =11 , Y = 2568
No6 : P = 150 , F = 22000 , V=70 , N = 268
~ D(p):—23p+8329}
N07_[ S(p) =18 p + 5336

X [Page = 0037] XXXXXXXXXXXXXXXXXXXXXXKKKXXXXKXKXKXKXKKXKXKXKXKXXKX XX KXK KKK XXX XX XKKXKKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKXKXME/2-6400402-00038XX

Function02 for No.645203

M
( 3x j a
A=Bx-y+18=0) 3=(y=-4x+7) JS=|y=—""-5
4 t
Nol = . S
.22(}/2;—1} A4=(x+y+4=0) 6=(x-3y-9=0) 9
LD ]
// 10_
8_
6_
4_
N
N "
AN 2 ///’//’//
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7( 0 5 - 10
\ // e
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|
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Function02 for No.645203 (continue)

— y— —M—
3x - _ a
Eq = y:—T—S Eq=[3x-y+18=0] ;
A=(-8, 1 A4=(-5,3) h
No2 = =C8 D) Np3= B=(2,22) o
B=(-16,7) _ @
P C=(4,31) Iy
=(0.-6) . D=(3,27) |
| D=(-4,-2) | U
| T
Nod4 : 4.1 > S = 170 , R=23
: 4.2 > S = 9300 , R=206
No5 : N = 28000 , R =9 , Y = 2566
No6 : P = 150 , F = 22000 , V. = 30 , N =170
~ D(p):—14p+6898}
N07_[ S(p) =23 p + 4789
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Function02 for No.645204

Nol =
2=(x+y+6=0)

4 x
A=(x-3y-6=0) 3=(y=-2x+3) .5=(y=——5j
4=2x+y+2=0)

10+

M

a

t

> h
O6=(y=2x+19) 9
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el
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Function02 for No.645204 (continue)

o
(Eq=[y=-2x+3]] (Eq=[2x+y+2=0]] j’
A=(5,-4) A4=(2,-9) h
No2=| B=(-3,9) | ,No3= B=(4-10) | .o
C=(-5,13) C=(1,-4) by
D=(0,3) ] L D=(-4,8) 4 U
| T
No4 : 4.1 > S = 160 , R=23
: 4.2 >S5 = 7100 , R=5
No5 : N = 29000 , R = 6 , Y = 2566
No6 : P = 170 , F = 18000 , V=70 , N = 193
~ D(p):—13p+6713}
N07_[ S(p) =24 p + 4826
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Function02 for No.645205

I=(y=—4x+17)

A=3x-y—-4=0)
Nol = .2:( :—§+4j .4:( =—43—x+6) 6=(3x—y—-5=0)

10+

F ]
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T
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Function02 for No.645205 (continue)

1
I

M
(Eq=[y=-4x+17]] (Eq=[3x—y—-4=0]] Ct’
A=(5,-6) A=(2,2) i
B=(-1,22) ) B=(4’6) @
C=(-5,37) C=(0,-4) by
. D=(3,5) | D=(-3,-13)
U
T
No4 : 4.1 > S = 180 , R =14
: 4.2 > S = 6800 , R =17
No5 : N = 21000 , R =9 , Y = 2571
No6 : P = 140 , F = 18000 , V. = 60 , N = 215
~ D(p):—23p+6772}
N07_[ S(p)=22p +3892
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Function02 for No.645206

A=(x-y—-4=0)
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Function02 for No.645206 (continue)

1
I

M
(Eq=[y=3x+1]] (Eq=[x—y—4=0]] Ct’
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X [Page = 0042] XXXXXXXXXXXXXXXXXXXXKKKKXKXXXKXKXKXKXKKXKXKXKXKXXKXKXKXKKX KKK XXX XXKXKKKXKXX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXME/2-6400402-00043XX

Function02 for No.645208

A=(y=4x+16)

1:
Nol=l" 5 _(y=x-3)

3=M4x+y+1=0)

X
4= y:—5—6

M
J=(M4x+y-3=0)

6=(5x+4y-28=0)] ~

6&;&‘*\&

-10+

T~

Continue Next Page >>>



Function02 for No.645208 (continue)
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N07_[ S(p) =28 p + 2670
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~ D(p):—23p+8128}
N07_[ S(p)=16p + 4774
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— p— —M—
3x _ _ a
Eg=ly="+2 Eq=[x+y—-T7=0]
2 ¢
A=(-10,-12 A4=(1.9) h
No2=| A=CI0-12) o nosol B=(a3) |,
B=(0,2) _ @
C=(5,2)
C=(4,8) B M
. D=3,1) |
D=(-8,-10) U
T
Nod4 : 4.1 > S = 190 , R =25
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~ D(p):—14p+7654}
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~ D(p):—23p+7652}
N07_[ S(p) =28 p + 3878
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Function02 for No.645213 (continue)
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~ D(p):—22p+6228}
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Function02 for No.645215 (continue)
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No5 : N = 14000 , R = 10 , Y = 2565
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~ D(p):—l7p+7439}
N07_[ S(p) =28 p + 4424

X [Page = 0050] XXXXXXXXXXXXXXXXXXXXKXKKXXXXXKXKXKXKXKKXKXKXKXKXXKXKX KKK XXX KXKXKXXXXKKXKKXX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXXKXXKXKXME/2-6400402-00051XX

Function02 for No.645216

A=(y+4x-T=

] = 6x
No .2:(y:—?+2j A4=(y=4x+15) 6=(4x+y-6=0)] ~

\/
%

0)

3=(x+4y-24=0)

M
A a
S=(=—=x-1) ,
h
2)
L:D ]
"‘--..\
\ \\\‘--.,,
\ \*--._

-10+

N

Continue Next Page >>>



Function02 for No.645216 (continue)
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Function02 for No.645218 (continue)
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: 4.2 > S = 6100 , R =17
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N07_[ S(p) =23 p + 4800
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Function02 for No.645220

J=(y=-3x+18) 3=3x+4y-20=0)

NO]Z[Q:(y:—Sx—S) 4=(x+4y—-16=0)

T
a

.5:(y:2x+2)} t

b6=(x-y+2=0)7 h
2)
L:D
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Function02 for No.645220 (continue)

1
I

M
(Eq=[y=-3x-5]] (Eq=[x—y+2=0]] ‘t’
A=(1,-10) A=(3,5) h
No2=| B=(5-19) | ,No3= B=21) | g
C=(2,1) C=(-5-1) Y
D=(-3,4) | i D=(0,2) J
U
| 7]
No4 : 4.1 > S = 130 , R =17
: 4.2 > S = 6900 , R =14
No5 : N = 15000 , R =7 , Y = 2570
No6 : P = 160 , F = 17000 , V. = 30 , N = 130
~ D(p):—20p+7040}
N07_[ S(p) =29 p +3022
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AN
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Function02 for No.645221

2=3x+y+6=0)

b5l b5
d=y=-T+4] I=(xty-2=0) S=(y=-"-4]|

10+

A=(y=2x+19)
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6=(2x-y-6=0) é
/ L:D ]
/
/
/
/
/
e
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Function02 for No.645221 (continue)

1
|

M
(Eq=[y=2x+19]] (Eq=[3x+y+6=0]] Ct’
A=(1,21) A=(-3,5) ,
No2=| B=(2,18) | ,No3= B=(3,-15) | la
C=(-4,11) C=(5,-21) Y
| D=(59) | L D=(1-3) U
L 7]
Nod4 : 4.1 > S = 130 , R=0
: 4.2 > S = 6100 , R =14
No5 : N = 25000 , R =10 , Y = 2565
No6 : P = 140 , F = 20000 , V. = 60 , N = 262
~ D(p):—22p+7380}
N07_[ S(p)=19 p + 5740
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Function02 for No.645222

M
X
A=(4x-y+3=0) .3:( :;—6j S=2x+y-20=0) CZ
Nol = 4y 5 ) h
2= y:T+2 A4=(x—-y+1=0) O6=(y=4x+5) )
LD ]

10+

/
/

\ /
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Function02 for No.645222 (continue)

1
I

] ] M
X - A a
Eq:{y:;—6} Eq=[2x+y—20=0] t
A=(-3,-7 A4=(3,14) h
No2=| A=C3-T) o3 B=(-5,30) | .
B:(Oa'7) _ @
C=(4,14) by
C=(6,-4) . D=(3,24) |
D= (-12,-10) U
| 7]
No4 : 4.1 > S = 140 , R =14
: 4.2 > 8S = 10200 , R =0
No5 : N = 13000 , R =9 , Y = 2565
No6 : P = 120 , F = 20000 , V. =40 , N = 261
~ D(p):—23p+7023}
N07_[ S(p) =27 p + 4473
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Function02 for No.645223

A=(x-3y+18=0) .32( =—
Nol =

2=(y=-3x+20) [

M
2x 6) S=(4 ¢
5 (4x-y+5=0) ;
7 h
) O=(x+y+1=0) )
L:D ]
—
\ _
e
//

\

\
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Function02 for No.645223 (continue)

— — _M_
3x _ - a
Eq= y:—7—6 Eq=[4x-y+5=0] ;
A=(-10,9 A=(-3,-7) h
No2 = =C10.9) 1 Nes=|  B=(2.-6) | .
B=(0,-7) _ @
C=(2,14) by
C=(-2,-1) | D=(525)
| D=(29) | U
| 7]
Nod4 : 4.1 > S = 170 , R =17
: 4.2 > S = 8300 , R =23
No5 : N = 27000 , R =5 , Y = 2569
No6 : P = 150 , F = 17000 , V. =40 , N = 165
~ D(p):—15p+7230}
N07_[ S(p)=16p + 5928
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Function02 for No.645224

M
d=(y=4x+17) 3=(4x-y—-4=0) S5=(4x+y+4=0) ‘t’
NoI=l o(p=x+)y 4= y=§+2 6=(4x+3y-3=0) | &
y
|:D]
) | /
AN \ [ o
\ \\/ | //
\ 5
\/< /
/\\ N
\2 /
\ /
AN ,
\° 5 10

\
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Function02 for No.645224 (continue)

1
|

M
(Eq=[y=4x+17] (Eq=[4x+y+4=0]] Ct’
A=(-4,1) A=(-3,9) i
No2=| B=(-5,-3) |, ,No3= B=(0,-4) e
C=(3,26) C=(5,-23) Y
L D=(29) | L D=(4,-20) U
| 7]
No4 : 4.1 > S = 190 , R =17
: 4.2 > S = 6500 , R =17
No5 : N = 23000 , R =5 , Y = 2571
No6 : P = 160 , F = 22000 , V=70 , N = 247
~ D(p):—17p+6290}
N07_[ S(p) =18 p + 3840
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Function02 for No.645225

Ab]:['lz(y:f”

\
O\
N\

3=(x+3y-12=0)
2=(y=4x+1) 4=(5x+3y+12=0)

-
a

Jz(3x+y—4=0q t
b6=(y=4x+19) [ h
)

LD

/ o
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Function02 for No.645225 (continue)

1
|

M
(Eq=[y=4x+19]] (Eq=[3x+y—-4=0]] Ct’
A=(2,27) A=(5,-11) ,
No2=| B=(4,35) | ,No3= B=(0,1) ol
C=(-1,14) C=(-2,10) Y
L D=(5,2) | i D=(-4,16)
U
L 7]
Nod4 : 4.1 > S = 180 , R =25
: 4.2 > S = 9500 , R =23
No5 : N = 20000 , R=15 , Y = 2571
No6 : P = 170 , F = 23000 , V. = 30 , N = 180
~ D(p):—26p+8332}
N07_[ S(p)=21p +4478
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Function02 for No.645226

M
X a
A=(y=2x+16) 3=|y=—" S=2x+y-5=0)
2 t
Nol = . ol
2=(x-y+7=0) 4=(5x+6y-36=0) .6:(y:5—4j )
L:D

/
/

\\ \X/
A

/ \
/ /// 4\\
/ . N
/ / \ AN

S RRRRIAN

\
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Function02 for No.645226 (continue)

1
|

M
(Eq=[y=2x+16]] (Eq=[2x+y—-5=0]] Ct’
A=(-1,14) A=(-4,13) i
No2=| B=(-5,4) |, ,No3= B=(3,2) e
C=(5,26) C=(-2,10) Y
D=(0,19) | i D=(1,3) J
U
| 7]
No4 : 4.1 > S = 180 , R=0
: 4.2 > S = 7400 , R =23
No5 : N = 18000 , R =11 , Y = 2565
No6 : P = 180 , F = 22000 , V=70 , N = 192
~ D(p):—27p+6919}
N07_[ S(p) =13 p + 5039
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Function02 for No.645227

I=(4x+y-17=0) .3:( =§j
Nol =

4x ’
.2:( =_T+7j A4=(y=—x-3) 6=2x-y-7=0)

10+

F ]
.5(x+y+70)}

I
.D"\;NNQ
L

-10+

é 10
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Function02 for No.645227 (continue)

1
I

M
[Eq=[y=-x-3]] (Eq=[x+y+7=0]] Ct’
A=(3,-6) A=(-2,-2) A
No2=|  B=(L-1) | ,No3=| B=(0.-1) | |0
C=(5,-8) C=(-4,-3) M
D=(-1,0) | - D= by
| T
No4 : 4.1 > S = 150 , R=0
: 4.2 > S = 6400 , R=206
No5 : N = 14000 , R = 8 , Y = 2565
No6 : P = 170 , F = 19000 , V. = 50 , N = 145
~ D(p):—22p+7732}
N07_[S(p)=25p+5100
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Function02 for No.645228

NO]{.]=(y=2x+14) I=(y=—4x+2) .5:(y=53—x+1J:|’
2=(x-2y-2=0) 4=(x-y-2=0) 6=(x-y+5=0)

]

I
e =~ 8
L

-10+

5 10
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Function02 for No.645228 (continue)

o
(Eq=[y=2x+14]] Eq=[x-y+5=0]] j’
A=(5,24) A=(-2,3) h
No2=|  B=(421) | Noi=| B=(-L4) | |0
C=(-54) C=(1,6) v
D=(3,19) | L D=(-4,0)
U
| T
No4 : 4.1 > S = 180 , R =14
: 4.2 > S = 8200 , R =14
No5 : N = 27000 , R =17 , Y = 2566
No6 : P = 130 , F = 23000 , V. = 50 , N = 293
~ D(p):—25p+8475}
N07_[ S(p) =28 p + 4924
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Function02 for No.645229

NO]:['.]zzz((yx:j;yil(f)) '3.15&151;3)0) '-56:=(Evy:=_—3xx++64))}’ ’ 2
A
N / ‘
NUATIN
AN
N ANIN
> /
. d N\
\\\\\\ / \\
Ny N\
— \ |
/ 0 \_‘\\\ \:—3 10
NN T
/ —
/ \
N
o\
_ N
/ -10- \
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Function02 for No.645229 (continue)

1
I

M
[Eq=[y=-x+6]] (Eq=[x+y+5=0]] Ct’
A=(-3,7) A4=(0,-2) A
No2=| B=(511) | ,Nes=| B=(38) | .o
C=(-1,5) C=(2,-9) v
D=(4,2) | L D=(-2,-3) |
U
T
No4 : 4.1 > S = 180 , R =17
: 4.2 > S = 10400 , R =7
No5 : N = 15000 , R = 6 , Y = 2570
No6 : P = 180 , F = 22000 , V=70 , N = 215
~ D(p):—19p+7565}
N07_[ S(p)=21p+4165
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Function02 for No.645230

e
d=(y=x-2) 3=(x+3y-3=0) 5=(2x-y+17=0) |
Nol=l 5 (3x—5y—1520) 4=(y=—3x-1) 6= y=3_x—1] -
5 )
LD ]
101 ///////
N
/
6- / v
S
\\\\\‘H“\\\\\ 44 /////j;//////////////;/
‘\\\\\\\\
\\ 5 // ///
~_ % e
~ -
0 5 10
/ /// \
L7 T~

-10+
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Function02 for No.645230 (continue)

o
(Eq=[y=-3x—1]] (Eq=[x+3y—-3=0]] j’
A=(2,-9) A=(-15,6) ,
No2=| B=(3,-10) | ,No3= B=(12,3) | |0
C=(-3,8) C=(15,-6) v
D=(0,1) ] L D=(-12,5)
U
| T
No4 : 4.1 > S = 190 , R=23
: 4.2 > S = 9100 , R=206
No5 : N = 22000 , R =11 , Y = 2565
No6 : P = 170 , F = 18000 , V=70 , N =179
~ D(p):—13p+6789}
N07_[ S(p) =24 p + 4828
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